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T - I/PART - I
9 {919 ug [T/ CHILD DEVELOPMENT AND PEDAGOGY
@9 : =i gel & Gy 37 @ fw 98 I fEey g

Direction : Answer the following questions by selecting the most appropriate option.

1. feEen ¥ g & 924 39 3 fau
HETTH B
(1) T
(2) Tl R
(3) STAEAT HT
(4) TERHE FIEH FT

2. UF SR & AEMIHOT o AATE &N
s 72 frefafag & F @9-d Rl
JUgH TET e !
(1) weger fareror
(2) TR
(3) TSI LG
(4) Hf-GTET

3. UF B & A & fayy # Fr=frag
T q 7ofq FUF A 8 ¢

(1) g1 o=l aiferg & Rafia

2 B a

(2) T TR B T |
(3) YedE WM H Uk AEA J9l el ¢ |

(4) G A LA | T o & |

4. uAfHa fanm @ o ®

(1) Afra B=del 1 g Her-ae
q Q0 HE

(2) o f=are @ [ Fer-at
q O BT

(3) @ Preranett & @i Rt
q QU &

(4) R e @ aT W OSTRN
S U FE |
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To cooperate the adolescent it is
essential to

(1) Inspire

(2) Indicate his mistakes

(3) Criticise him _

(4) Do negative behaviour

Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline

(4) Over-protection

Which of the following is a wrong

statement.. about.. emotions of an
adolescent ?

(1gy Emotional expressions are

ified by learning. -
ions are permanent,
very emotion 1s accompanied by

a feeling.
(4) Emotions are aroused by external
stimuli.

Inclusive education means

(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in
different classroom.

(3) Meeting individual differences in
special schools.

(4) Meeting individual differences in
home based instruction.
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e § @@er 7 wE W oRed
R U9 ISl &

(1) farerss @

(2) Hrar-foar

(3) Gi-aifeEi &

(4) TR @

B 7 Hiaw gl # g9El 'Y Y A
e o | &, A sreus

(1) XA gedi & & 1|

(2) @F I UT ST F |

(3) Wer @l %l el g |

(4) -3garelt @ e )

e e i § 3 drgad ik
g fomfd w0 § g B, o 8
(1) o TIAT W= HTA |

(2) I e, ﬁsﬁwwﬁ
e FAveprere |

(3) FB I B ST FHT B

(4) ufatear &l [ @ R
el T STeTgl ERT

e H gaid fafy &
(1) Tha=id  (2) Ao
(3) o= (4) TS

frefiag § | $9-a1 frarEenr ¥
AT faT &1 UF R JE&T 8 ¢

(1) U1 9% G B TF G 6eE
uil

@ Rt RiT 3 oy ST A
(3) = gEdl ¥ A4l F4 A

(4) fafsre sfeat § g 2
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In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral values can be effectively
inculcated among the students when
teacher

(1) Frequently talks about values.

(2) Himself practices them.

(3) Tells stories of good persons.

(4) Talks of Gods and Goddesses.

Critical thinking helps a person in

developing abilities and skills for
(1) providing concrete experiences.
(2) proper interpretation, analysis,

evaluation and inference.

(3) pereating and constructing

something.

) thinking about ways of reacting.
thod of dealing with adolescent
ts and teachers is

(1) Autocratic (2) Permissive

(3) Democratic (4) Restrictive

Which of the following is not a
characteristic of social development in
adolescence ?

(1) Active member of their peer

group

(2) Being an attraction towards
opposite sex

(3) High decrease in  friendly
relationship

(4) Extension of special interests

Newjobsinfo.in


Ashu
Typewriter
Newjobsinfo.in


10.

11.

12,

13.

14,

% R o 99 By d Fd A §;
SH @M d A foaeen, 39 e @
FT &

(1) 9y e

(2) fFmEmeE JaEER

(3) T HAEK

(4) |t 9T qel ¥

GO ST G g ®

(1) 9 9 8
(2) Tefeat & fomr o &

(3) Wl g (eha) G A
(4) TOEE TOET FE

‘Fad R A% qFiEd (CCE) &

e o

(1) Fa Sk B T Bl IeAib
FHEA |

(2) T & |l Qe 1 g H |

(3) @ae B % S 1 GeHHT B |

(4) I S B G B TeIHT FHE |

frfofag # & @F-@ goAce® aa®

%l faswar (dFFan) 787 § 7

(1) faemrar

(2) e

3) fage

(4) T

Al wfawa &1 aed ®
(1) 9% & Ee § &9 g/ 9 |

(2) farer @t farwor et § aftad= |
(3) UIegaR] H YRHWH |

(4) GTEFEER] H I B
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11.
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14.

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the

problem of

(1) Speaking accurately

(2) Writing  without committing
mistakes

(3) Listening message properly

4)

Continuous and  Comprehensive

Evaluation (CCE) aims to evaluate

(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) The knowledge of child only.

(4) _The understanding of child only.

he following is not a trait
1 a creative child ?

Elaboration

Doing mathematical calculations

(1)
(2) Originality
(3) Accuracy
(4) Novelty

Learning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the
teacher.

(3) Recognization of the subject-
matter.

(4) Completion of content.

B.T.0;

Newjobsinfo.in


Ashu
Typewriter
Newjobsinfo.in


A

15. RN & [ fhe g9 e ® ?

() a3 % 59 & §99
(2) AsrErEE & SR

(3) FpammaRr & g
(4) TIEHEE F AH

16. acH % R AR #oqw w d
Frefifed & & @9-a1 g@ge Suge
TET e ?

(1) I Frgarsti &1 e e =mea |

(2) SUgHT YA X AT I9eE HE
ST =Ry |

(3) % fafgTa (da@) #T T =few |
(4) ATFTRE AvEd FTAT =Ry |

fPal & @y, @99 =y ¥ ormEiG
et & @Y Fd #0997 = Sk
TEFe ?

(1) HARIEATS IIFTY
(2) SIS U
(3) Hfed UM

(4) el JUFm

18. STJARMEAT Tod  wewyl AfEm @
Frefe &%l &

(1) 9% % HEE g 5

17

(2) SF F gEIeTEs FHg o
(3) 9% F AN A o
(1) TTF 3 A e §
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16.

17,
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18.

®

Differentiation of emotions takes
place at the time of

(1) Birth of child
(2) During infancy
(3) During the period of adolescence

(4) During adulthood

Which of the following provision is

not suitable to meet individual

differences among learners ?
(1) Their abilities should be assessed.

(2) Adequate facilities and material
should be provided.

(3) Labelling them.
(4) Making Individualisation necessary.

Working with
particularly maladjusted one, which is

adolescents,
not appropriate ?

( itical approach

( mocratic approach

(3) Collective approach

(4) Ideal approach

Heredity plays most important role in
the

(1)

Emotional development of the
child

(2) Social development of the child
Physical development of the child

(4) Cultural development of the child



19. UF 37 S1ATF & [0 diEe & sl

20.

21.

22,

P ATFRI TETF &, Fih

(1) 308 e a0 @ e
el 21

(2) UFEE] H gk s A Hewar
et 2 |

(3) WEHERg H W alH 4 gEEe o
Hergar et 21

(4) TO9 999 F 99d el |

IEfTe SHR & el @ Frefaied §
q P-4 fagmar 7@ E ?

(1) ReedEa  (2) aghe
(3) Jeram (4) AfFrT=ar

Ffifardr @wer-we @1 Fefatag § @
PH-g1 fgAwan g ?

(1) BE & F49R & g §9,
frepd frepeer ol ome el &t

el Al |

(2) o T, AR el oo ¥ a

(3) oEUE  oNfEeE &9 SEl @
TG HLm 2

(4) B ‘GEI' T P a9 € |

frfafag & & @9-ar ofem &1 @
qeR® a0 ioaied s @ wrafs
frag & ?

(1) " & fa
(2) 99| & |
(3) STENHTT F1 e
(4) wghT &1 fem
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19.

20.

21.

22,

A

The knowledge of principles of

learning is must for a good teacher,
because

(1) It helps in maintaining discipline.

(2 It
interesting.

(3) It helps to understand the content
by simple methods.

helps to make content

(4) It saves time.

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(3) Validity (4) Subjectivity

the
constructivist

Which of the following is
characteristics of
classroom ?

(1) Students 'design experiments,
draws conclusions and compare
heir findings.

dge is objective, universal
plete.

(3) Teacher transmits authoritative
knowledge to students.

(4) Students look for
answer.

the 'right'

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

P20



23.

24,

25.

26.

27.

™ & oijeR ams @+t afE @
e Wodihs fER ar e #
qg & A g, 98 fem Frefefed &
H P ol F & & 2

(1) ohv=is BrareTs saf

@) T fraeTs omafy

(3) qd-FrameTs arafy

(4) =g T ofamy

U 9% H GomTcddl 1 @l Sad 2,

NFERF AT Is T A9l AEIE
faera 1 WX IR 8, 98 JEEIT

(1) W%ﬂﬁmm?

(2) TV JafTH Y

(3) JgfaTE aT=X

(4) 999 I JafedE oY

98 NI "HE g9 Sl fhdl Zder

B AT FE, FRRE FW T S
WA H YgA Bl 8, BEerl &

(1) s (2) ST
(3) gl (4) HAFEREn
S A 0 @ F erEE |
B 9 € it 3 I=

(1) s dfer (1.Q.) &l B

2 AMF afer (A.Q.) &t B
(3) wiafe afer (B.Q.) 8kt B
(4) omeHTiTE afer (S.Q.) B B

forE amE: X § UiT 1 1 e
B 8, foma & 9 e Fean ©

(1) fawsd & wwpmedia

(2) AfFEEfeEd (=T & aBT # @R)
(3) 9mg ¥ fafire

(4) RREE
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24.

25.

27.

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

That internal state of mind that
arouses, directs and maintains
behaviour is'called as

(1) Interest (2) Opinion
(4) Motivation

) Attitude
d eople adjust easily with new
ecauae they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific
(4) Cephalo Caudal

principle of



28.

29.

30.

TH BF a3 Ther & fow sfew uftsm
F W T I M@ ¥ I oD IF
AN G HeTEEReT 9 F aer fEr ¥
T oY §

(1) T=afa Jeom

(2) & IRem

(3) g IRem

(4) SIRE 91 & A4TOm

sftrmepal dfsd SUTW & W H
frifefad & & St %39 T & 96 &

(1) g8 Ifepmesal &0 Jrgaren, &Harst
e rlice B 1 G B | e

(2) T& <Y, SEAEHT X G B
Hod G 1 ol 2|

(3) & IAGE B SAferEal ® S
LT 9T & &l & |

(4) & STHISTH-TTH, HHE-GH,
qII-AFES  qgr geedia-ae
o fafEt & uE F g

(9)

28.

29.

d

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks, This is

(1) Intrinsic motivation

(2) Extrinsic motivation

(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's
capabilities, capacities and

learning styles.

It stresses the

enquiry,

investigation.

3) It emphasises
knowledge to the learner by the
teacher.

@

importance of

observation and

transmitting

(4) It uses methods like experiential
learning, problem solving, concept

ing and creative writing.

)
attitude 'l do not care' is a
type of behaviour which can be
called
(1) Aggression
(2) Defence
(3) Denial

(4) Retrogression

Level-3/166
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HIT - II/PART - 11

A1 - 1 (7<) / LANGUAGE - I (HINDI)
e : il 97 # g &7 % fe qaw o Reer gfa

31.

32.

33.

34.

35.

o7& e # et
(1) fagafE = fasg + =

(2) TMER = JEd + 4R
B) g = g9 + &

(4) T = A1+ Y

‘A’ I § B9 G9g T 7
(1) 37 2 @

(3 & (4) &=

‘e o ® ewar frar T A - & Rg
% = g

(1) A

(2) SEnd

(3) SATERIq

(4) SATEHICT

o T e I e e

% T o gt ®

(1) gfedr

(2) afvEiE

(3) Sfdrafereer

(4) @ETHA

=1 o=l | @ B9 9= ‘@8R 7
(1) ™

2) foama

(3) TR

(4) Yot
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36.

37.

‘g gH od @ F i grEer g gwr
59 A B @8 a9 o

(1) 3G~ T

(2) RFRIHE A

(3) HfTe o

(4) Y g

v s arfeafed = & mF & gon
B - & [ gw o=

(1) H=gA

(2) FEE

(3) Y gF

(4)@1“{1@3
P o= | w9 @ gfe  fawfe

ddiTT "

39.

(2) Fa=H
(3) @&
(4) T@UHR

fFa o= § 9 goE & wE 9w w9
q 7E g 7

(1) Sefe

(2) dri

(3) TudE

(4) HEE
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41.

42.

43.

44.

H @ @ gw g o A A
s A S Ff

(1) It g

(2) "M gd

(3) T~ 9Id

(4) "y qq

A 6 gfte | U’ 9w\ e 7
(1) o794

(2) HEarEE Gl

(3) gy

) g

-9 = T B A 78 o
(1) #HEs

{11)

45.

46.

47.

et @l ‘%’ @t T @ gfte § 2
(1) SET-HEI

(2) WETToT-HEy

(3) ST~

(4) HETHIOT-STETT

T 9= H SUgE WA B T
E78

(1) faimam qogey

(2) T TgEy

(3) T AGHY

(4) =g T

I @ g o awe - awrE &
e gel wid @ = i

(2) fafrares (1) WEWE & o & g
(3) = (2) 7, e wEd P & HT Sy
(4) fafirg (3) AETTH AL %ﬁéi uq
& FFHT § BE S
A o il ge g ® a
(1) T&+9 ; TR
2 T6 + & (1) g
(2) gam
3) T6 + o
M+ q (3) ST
v (4) fadar
Irfiga’ orF F THE HiY =Ry e 9. g P A
b+ s (1) -3
) A+ (2) STHA-HYZET
@) A + (@ T-Rrfvet
(4) AT + (4) oo
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53.

54.

‘e’ g s @ o= B 7

(1) e

(2) Wl

(3) IS

(4) &=

‘dgb TFH IYERT gl R
M % [qU gl 9 #1789 &

(1) o1&

(2) &

(3) &+

(4) SR

foq o= § FHIRE qHE # @ 78
g E 7

(1) FEER

(2) e

(3) et

(4) FAHTA

Al g & GfeerT. T e ?
(1) e

2 99

(3)

(4) afEar
S?Hﬂlﬁﬁfﬁ'ﬂﬁﬁf@!%rm 7el g
?

(1) FHHosd

(2) fBRrEr

(3) eI

(4) qadgEr
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55. e daHl A U Bifey

(1) HaETd®
(2) #fHE

(3) qiHfes
(4) HIUHIHE

39T : R e # veET 39 97 oriia
8 T 7o (79T deEr 56 | 60) & Fav &

TG § WO 3w o iy @
HT 3 @l ol wER =X fd @
BT GE Ud ¥ 0F WHOW A wuw Wl
g ol orid B udd fred @ wWow g @l
e o8 B ol gl ' W @ ‘omgFe’ ¥ A
W % U WEH F H3E # 3fe | I ¥
& T T ghe g F Fmier F 3@ aen
% TE I 2|

AT JAST F G Hed o ged
R & 93y -3¢ S 3l geditha o degEr
gREToIg A fRT 81 WA §EN H TS
9 & w9 § orfufed fear omr

I 4@l @ 9d & 5 yEmad

ﬁaﬂﬁm%lm%w
gREe & AR g g

afew  dfearstt @ arsf%m W@i’r |
e Sufwel & & & mn o 5 aRe aewg
% & A 9| FER @eN g AT g8 3 39
aut ageq & fay G Bed 3 =@g 99w 9
d gd # A TRE ESEE WO #@ R
e G & B ¥ 9EE o oK HedH
e 4 gicfawas 9@ @ g9 ansie
far e R Nod g8 §ed g &@ ©
9| o R wd e e genm @ I
MEY-TElEEY H e G @ eTHiaE Semet
1 e a9 | M & 6 g v 'W



ARG B A @ TR H H AP T gen
Hl TR Y | g9 e # AT & 9y
oM e o R ge we wRE & 33
yeql @ 8 HUT @ 9| qRAg e

9 ¥ 39 YR @Aiied 8 T & 3= 9% W
F WY G G9g e |

T qeAd & R 9ea # S 21 o
FH g N BITH g8 TSl B A IYE
g% & SE AUHEE WG F JHEEH ggerd ¢ |
IR SIEEHRl & AR el Ho Th
U T A1 TG WIS F fedw Fi Eean
oaT| GREET X GRH i HE SOm e i
I T OWIT F AW W FP T gEd
o ffa g3 R gufom e o A
I ® 2

7 T8 9 & 6 oFia W B awd
Waqel # @i B IS 9l 9y ¥
o 78§ fp HOel sfelie Sl aEe S
YT A 8 S0 | QAT G § gfeed
wE difedd & 999 g9 ofdid H Hea |
g3l A T Al 9o &9 T4 2| & 98
ferg ofX #Xey Sl U= 9 WO 8 981 5
dife® que & Uh a & foll 89 a9 T
WO & Uglibd Y dagar Gt
dl SEeTE & Wy I Y4 96 ¥ © fF U
H dE q M A S

56. T ST H AL &
(1) gR WREE
(2) WY e
(3) WU % g IR
(@) | fampew o @

(13)

57. Tad g5 frad &

() BEE gRE &

(i) WEEE "9RE %

(iii) o7 e %

(iv) gfte fawaes qieweaar &
e IR faehed @ giee
(1) () @ (@)

(2) (i) T (iv)

(3) &AW (iii)

(4) Fad (ii)

58. mazﬁw:ﬁfézsmq?rwﬁm

(1) st (2) FAFEE A
(3) FAVTF = | (4) &l A
9. q W ?
dda
(2)
(3) &rEn
(4) Hfewr He

WA= G 7 At e @
(1) sy

(2) XU F SFERA

(3) ST N HIR H @I HAT
(4) =T AR o

60.

Level-3/166
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HIT - III/PART - 11T

TS - 11 (S{ISHT)/LANGUAGE - 1T (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is

given :

(1) ous
(2) some
(3) ose
(4) ful

Level-3/166

64.

65.

66.

‘I don't enjoy going to the dentist.
The in the

sentence is a/an

word 'going' above
(1) Present participle
(2) Infinitive

(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :

Mother said, "Don't go to the park."

(1) Mother asked us not to go to the
parks

(2) Mother told us not to go to the

k.
a ather said us not to go to the

park.
(4) Mother said to us to not to go to
the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine



(15) A

67. Choose the correct passive Direction : (Q. Nos. 70 to 74) : Select the

construction of the sentence : sentence that is grammatically correct :

Auctioneers will sell the painting at

auction. 70. (1) My brother is the student in
(1) The painting would be sold at Mayo College.
auction.

(2) My brother is student of Mayo
(2) The painting will be sold by the

auctioneers at auction.

College.

: o ) (3) My brother is a student in the
(3) The painting will be sold at
Mayo College.

auction.
(4) The painting will be selling at (4) My brother is a student in Mayo
auction. College.
68. Identify the figure of speech in the 71. (1) Neither of them were present
following sentence : there.
I must be cruel, only to be kind.

Neither of them was present

2)
o rill d d .
2) Parad
(2) Paradox al herof them present there.

(3) Analogy

] (4) Neither of them are present
4) Metapho
& Megphior there.

69. Which of the following words is mis-

spelt ? 72. (1) The roses smell sweet.

(1) incongruous (2) The roses smell sweetly.

(2) chronological
(3) The roses are smelling sweetly.
(3) synchronus

(4) sympathetic (4) The roses are sweetly smelling.

Level-3/166 P.T.0O.
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73. (1) You certainly did not ought to do 76 Choose the correct direct speech of
it. : the given reported speech :

He said I'd better go because it was late.
(2) You certainly ought not to have

(1) He said, "You'd better go because

done it.
it's late."
(3) You certainly did not ought to (2) He said, "I'd better go because it
have done it. was late."

_ (3) He said, "You'd better be gone
(4) You certainly ought not to have )
because it was late."
been done it.

(4) He said, "You'd better go because

74. (1) Who was the book given to ? it was late.

o T e — 77. Which of the following is spelt

correctly ?
(3) The book was given to who ? (1) Pediatrician

(2) Padritician

(4) Whom was the book given to ?
a alaitrician
75. Choose the correct  phonetic iatrician

transcription of the word 'Locate’
78. In which of the following sentences do
. defini :
(1) Nuket/ we need to insert the definite article
‘the’ ?
(2) Nokeit/ (1). They are all busy growing things.
(2) We do not generally speak of
(3) /lou'keit/ farmers 'growing animals'.
(3) Why do people work ?
(4) /Nouket/ :
(4) They are different from rest.

Level-3/166



79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.

(3) My father put his foot down when

I said I wanted a car for my

seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, 1 left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time

(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions
by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/166

(17)

A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites 1s the utter absence of all

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we.do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any

art or science seems to destroy that native

y to warp and trammel the

dom of mind which is

ce y s receiving and giving their

due weight to ordinary and casual
impressions.

81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P T.0.



82. What is not a requisite of common
sense ?
(1) the utter absence of all
pretension
(2) bigotry and narrow minded
notions
(3) truth and propriety

an unbiased freedom of mind

(4)

83. Which of the following is not stated

by the writer in the passage ?

(1) Affectation
sense.

destroys common

the
utmost simplicity and sincerity.

(2) Common sense requires

(3) Common sense feels the air of
truth and propriety as the fingers
feel objects of touch.

(4) Common - sense destroys . the
native simplicity and warps and

trammels the freedom of mind.

84. Fill in the blank with the most

appropriate word: a
Common sense has been
pronounced to be ‘fairly worth the
seven’ .....c.oeveen. .

(1) Notions
(3) Talents

(2) Sciences
(4) Wits

85. Which is not a synonym of the word

'pedant' ?

(1) dogmatist
(2) formalist

(3) perfectionist
(4) down-to-earth

(18)

Direction : (. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

86. ........... child should learn to read and
write.
(1) All (2) Every
(3) Whole (4) Both

87. Can I ask your ..........., do you think
TV violence is harmful ?
(1) opinion (2) favour
(3) question (4) advice

88. Where is my wallet ? I left it

the kitchen table.

(1) at (2) in

(3) on (4) by

89. Take some medicine and the pain will
0 eeerernenn .

(2) off

(3) out (4) away

90. The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They
thirty miles.

......

(1) had been walking; had walked
(2) had walked; had been walking
(3) walked; walked

(4) have been walking; had walked

Level-3/166
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HIT -IV/PART -1V

i /HISTORY
R : Fefrea 7o % guv &7 kv geg afd Aeey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

95.

IFHAT FH TH-F 2
(1) g (2) T

(3) FTIY (4) JoarEYY

Frefoigd Jarett & § HF CoTderdr
HAEIT & GeNyE 787 o1 7

(1) = (2) T
(3) @@ (4) EE

gewE T AN FIgEH Uah B 0
A A et i ) G D |

(1) HfH (2) TREEET
(3) g=™ (4) GRR
M A9 (1905) & 98 @S P

& 32T oI a

(1) TH-GfHRE 9w

(2) 9T q gl HT
(3) M ¥ AT H FIA HAT

(4) TSR giora &

g9 ¥ v 9 FeEs ¥ 99
s § o ?

(1) 250-300 o
(2) 100-150 go
(3) 300-350 Zo
(4) 350-400 Zo

Level-3/166

91,

92.

93.
4.
d

95.

The birth place of Akbar is
(1) Kabul (2) Amarkot

(3) Kalanoor (4) Gurudaspur

Who among the following leaders was

not founder of ‘Non Aligned
Movement’ ?

(1) Stalin (2) Nasir

(3) Tito (4) Nehru
Muhammad Ghori designated
Qutubuddin Aibak as

(1) Malik (2)  Lakhbaksha

(8) Sultan (4) Subedar

ord Curzon's objective behind

itien of Bengal (1905) was

rovide representation to the

people
To increase state revenue

(2)
3)

To weaken the nationalism in
Bengal

(4)

To create employment

In which period the paper came into
existence first time in China ?

(1) 250-300 AD
(2) 100-150 AD
(3) 300-350 AD
(4) 350-400 AD

P.T.O.



96. freffad ¥ & -9 & g @E
gafra & 7 |
(1) & : AT
(2) JEIYT H U : FF
(3) i s : asli®
(4) famere ofeE @ @AW

T6 AF & I 3
(1) & a7 FergT

@) T5 o

(3) & Mie= fie

(4) T& 3TEed

=1 & @ F9-a1 ederie afefas Ty
TER?

(1) es=ha

(2) STHHY

(3) FEEy

(4) Tl

d i 4% @2 T & ¥

97.

98.

99.

(1) 1612-1642 2o
(2) 1801-1831 3o
(3) 1618-1648 Zo
(4) 1790-1820 3o
() gEm a (2 feerdem 4
(3) Ia9 A (4) FEEE 3

5T 9y % RS 9

100.

101.

(1) BRETII 37 g 11
2 eI o gFm 1
(3) I &R efex I
(4) FIRIE AR TG

Level-3/166

(20)

96.

97.

98.

99.

100.

101.

Which one of the following pairs is
correctly matched ?

(1) Sanchi Stupa : Menander

(2) Pagoda at Purushpur : Kanishka
(3) Hathigumpha Inscription : Ashoka
(4) Shinkot Inscription : Kharavela

The successor of Guru Nanak was
(1) Guru Teg Bahadur

(2) Guru Arjundev

(3) Guru Govind Singh

(4) Guru Angaddev

Which amongst the following is not a
literary text of Harsha period ?

(1) Harshacharita

(2) Amarkosh

(3) Kadambari

(4) Ratnavali

The thirty years war was fought
between the years

( 12-1642 AD
a01-1831 AD
(3) 1618-1648 AD
(4) 1790-1820 AD

'Ulat Bansi' belongs to
(1) Surdas (2) Biharidas
(3) Chaitanya (4) Kabirdas

The founder of Vijaynagar empire
were

(1) Harihar IT and Bukka I

(2) Harihar I and Bukka I

(3) Devray I and Harihar IT

(4) Krishnadevray and Achutroy



102.

103.

104.

105.

106.

(21)

qyret e & o
(1) fayg

(2) feran goer

(3) g T

(4) FH UqE

QIares 49 & J4H ED 4

(1) fog®
(2) & st

(3) g
(4)

fra @1 @8 &M@ w@ W TR EW-
FE & ufer wEa o

(1) Hresieet
(2) ST
(3) gl
(4) AT

ﬁﬁﬁf@ﬂﬁ%ﬁ?mﬁ@s‘lsﬁa
fert =t 78 o ?

(1) BN (2 0

(3) HIA (4) AHT

g9 e T EY HEREERET &
Iy aror B eft

D I«
(2) HerHE

(3) TG g
@ A
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102.

103.

104.

05.

106.

The leader of Santhal revolt was
(1) Sindhu

(2) Birsa Munda

(3) Kalu Ram

(4) Karam Shah

The first king of Satvahana dynasty

was

(1) Simuka

(2) Shri Shatkarni

(3) Susharma

(4) Krishna

The Indus settlement in Sind, which

was exclusively devoted for handi-
craft production was

(1) Mohenjodaro
(2) Balakot
3) Chanhudaro
4 nvali

amongst the following was not
a finance minister of Louis XVI in

France ?
(1) Kropotkin (2) Turgot
(3) Colone (4) Necker

The first Gupta king hold the title of
'Maharajadhiraj' , was

(1) Gupta
(2) Ghatotkacha
(3) Chandragupta |
(4) Srigupta
P. F. 0.



A - (22)

107. &9 e q ud ﬂ%ﬁ e S 107. The seals found at Indus sites inform
forerelt & us about
(1) fafr o ot & (1) Script and Religion
(2) TR e @t (2) Town Planning
(3) Il e i (3) Drainage System
(4) qfed H (4) Literature
108. ‘TRIdlieFl aar & HeAs d 108. The founder of 'Tatvabodhini Sabha',
was
(1) HEd W (1) Rammohan Roy
(2) ez A9 (2) Keshab Chandra Sen
(3) IAFTYT M (3) Debendra Nath Tagore
(4) GT[?I{RT‘[ tl@"T (4) Atmaram Pandurang
109. Y=y HEHE Hahl q g qgﬁ 109. Prophet Muhammad arrived Madina
from Macca, in
(1) 61230 7 [ (@) 71230 & () 612AD  (2) 712AD
- (3) 66130 & (4) 622%0 (3) n661:AD, (1) 622 AD
110. 9RIF 39 & & ?ﬁ [y ad & g9 10. The evidence of a ploughed field
el & t rthe early Harappan level
a to
(1) FreiEm o 1) Kalibangan
(2) Tl & | (2) Amari
(3) Hrearsh A (3) Kotdeeji
(4) T | (4) Ganeshwar
111. 9RPFF "o ¥ M, <fiemEd’ oF 111. ‘Leelawati’, written in Early Medieval
Ty ® ! period is a book on
(1) G TT (1) Astronomy
(2) wifefa® sT@ar (2) Literary Criticism
(3) T W (3) Mathematics
(4) Fefear e @@ (4) Medical Science

Level-3/166



113.

114,

115.

116.

FrefiiEa & @ #9-8 ge@ do dio
HEHT a fofad € 7 A9 fw g et
# I g
0 feg=

(i) feaT I offp RV — 1857
(iii) A% AT

(iv) B wE®

L

(1) imii (2) i,ii U iii
(3) ii T iii (4) i, ii, 1ii U9 iv

112.

A

Which of the following books were
written by V. D. Savarkar ? Choose
the answer from the codes given below
(1) Hindutva

(i1) Indian War of Independence — 1857
(111) Joseph Mezzini

(iv) Prison Life

Codes :
1) 1&1i (2) 1,11 & 1l
(3) 1 & iii (4) 1,11, i1 & iv

qgE Ffor ufban @1 snfasse @ g 113. The road making process invented by

Riteqr s?rfﬁ?m a1 a Scottish engineer, was

(1) T=d (2) ¥% wsH (1) Roahds  (2) Mc Adam

(3) UEH BT (4) TEH a9 (3) Cyrus Field (4) Graham Bell

1857 & fgie # U5 REE abf 114. The conservative leader who described

A AT wieard sar o ' the revolt of 1857 as National Revolt,
was

(1) =9 GﬂG?ﬂ (1) James Outrem

(2 o 3o &4 )T, R. Holmes

(3) s=go W a d d Taylor

(4) S feerian 4) Benjamin Disraeli

M= 7 | F-a T de w1 oa
&% 787 91 ?

(1) efsre
(3) GAvIMIRY

P WHTE MR ARG ¢ A e

(2)
(4) ATF

(1) 1556-1605 o T
(2) 1605-1627 o TF
(3) 1658-1707 3o TF
(4) 1530-1556 3o TF

Level-3/166

115.

116.

Which of the following was not the
provincial centre of emperor Ashoka ?

(1) Takshashila(2) Tosali
(3) Suvarnagiri (4) Ashmaka

The Mughal emperor Jahangir ruled
India, during

(1) 1556-1605 AD
(2) 1605-1627 AD
(3) 1658-1707 AD
(4) 1530-1556 AD
P.T.0,



117.

118.

119.

120,

121.

(24)

W%m%mﬁrﬂﬁﬁﬁ?—
TH FOT TET e 7

(1) T Yy IR
(2) IUHN g g &G e F GEl B
SAREAGI|

(3) W e # et
(4) "R 9 % & 39 &5 § 99

frefafad & @ 59 w9 & Ica= 4
ARG-U9 UK W THS gsal & 7

(1) e
(3) TIAY

(2) et

(4) Mg

ARET H WA P S T A
Y &l

(1) 188720 &
(3) 1781%0 &

@) 1776 30 #
(4) 177830 H

THM ARG & o9 S & & 9
Ay aEey ¥ At o '

(1) &, SAFH SR, g a

(2) FAleH, dicH, Ter
(3) HENIsE, S Wael, eI

(4) uifsad, FE, Jene

1886 T4 1893 H BU WY TS HIH
A & e @

(1) s=go o Tl
(2) RO ame Hear
(3) faferm =t
(4) STETIRE AN

Level-3/166

117,

118.

119.

121.

Which amongst the following is not
one of the factor for the rise of
Magadha ?

1)
(2)

Huge agricultural production
Iron mines accessible for tools
and weapons

(3)
(4)

Large number of elephants
The birth
Buddha in the region

of Mahaveer and

Excavation at which of the following
sites brought to light evidence of
Indo-Roman trade ?

(1) Kaushambi (2) Nalanda

(3) Sarnath (4) Arikamedu

recoéMsed American
Independence in
(1) 1887 AD

() 1781 AD

England

(2) 1776 AD
(4) 1778 AD

The present Indian States included in

he ancient Tamilkam Kingdom of
are
rala, Andhra Pradesh, Tamil

Nadu
Karnataka, Sri Lanka, Maharashtra

Maharashtra, Andhra Pradesh,
Gujarat

Pondicherry, Kerala, Maharashtra

(2)
(3)

4)

The President of 1886 and 1893 Sessions
of the Indian National Congress was

(1) W. C. Banerjee

(2) Feroz Shah Mehta
(8) William Wederbern
(4) Dadabhai Naoroji



(25) A

122. FAeH Elﬁfﬁﬁ 3R f‘lﬁ?’l"ﬂg A gewat 122. The period of the rise of Chalukyas in
% J2T H FHeT o1 Karnataka and Pallavas in Tamil
Nadu, was
(1) 500-600 3o (1) 500-600 AD
(2) 375-415 30 (2) 375-415 AD
(3) 606-647 o (3) 606-647 AD
(4) 712-900 %o (4) 712-900 AD
123. M=fiflgd & @ aM-a & 9ES 123. Which of the following rulers is
‘SfHEE & AW Y A A g 7 known as 'Amitraghata’ ?
(1) T (1) Samudragupta
(2) F=H (2) Kanishka
(3) fargar (3) Bindusar
(4) == A9 (4) Chandragupta Maurya
124, FEY G ‘SHF-U-HaT & RgaE & 124. Akbar awarded the title 'Zareen-i-
™ Qalam' to
(1) ge=™g g@ﬁ Bl (1) Muhammad Hussain
(2) AT Fl (2) TodarMal
(3) TR AT AN (3) Abdul Quadir
(4) TEETE @F A d ah Khan
125. fy=fofad & & &9 3 Gﬂgﬁ'ﬂﬁﬂv‘(‘ﬂ aongst the following is
7 fhY far S ® ° credited for the modernisation of
i Russia ?
1) e & e Hf (1) Peter the Great
(2) STAFAUST I H (2) Alexander I
(3) SFveY 11 &l (3) Alexander II
(4) 9 & I (4) Charles the Great
126. f=foifad & | @91 o9 g @ 126. Which amongst the following is not a
e Fe e ? theory of Jainism ?
(1) F{Eﬁ@'ﬂ'ﬂﬂﬁ (1) Pratityasamutpad
(2) WG AR =T (2) Jiva and Ajiva
(3) HrE@r (3) Syadvada
@ B . (4) Triratna

Level-3/166 P.T. O.



127.

128.

129,

130.

131,

(26)

g=go Hio dEal & Mol ARHT BT
FA At °

(1) 9q e
(2) TEAET IS

(3) HNAFHIE
(4) He-aTE e

CHENRERECH R Ritip i
(1) STHT SR GTATET F Uehal
@) # s

(3) ST § ek

(4) IER (5%)

Tegs Y qor & gRy R

(1) @3 Il W
(2) @ R amr
(3) S afEH am
(4) @S Sfiavs &

‘ITEA-T-SThE & T o
(1) g Fod

(2) IR gad

(3) ST X

(4) g

e Wl EW ger: T A A e
qreft &g ot

(1) @t

(2) drel

3) =

(4) HE

Level-3/166

127,

128.

129.

W. C. Wyllie was shot dead by

(1) Bhagat Singh

(2) Chandra Shekhar Azad
(3) Ashfaqullah

(4) Madan Lal Dhingra

'Vahadat-ul-Vajood' means
(1) Unity of Soul and God
(2) Blessing of God
(3) Unity in Diversity
(4) Right (Haq)
Subsidiary Alliance
initiated by

(1) Lord Wellesley

(2) "Lord™Hdstings

System was

(3) Lord Bentinck

dd&i AuCkIand-
. or of 'Ain-e-Akbari' was

131.

(1) Abul Fazal
(2) Amir Khusrau
(3) Abdul Quadir
(4) Badauni

The metal mainly used by the people
of Indus was

(1) Gold
(2) Iron
(3) Silver
(4) Bronze



132.

133.

134.

135.

(1) 1,11, ivdy
(2) 1,11, 1 div
4) 1, 1,10, 1va v

ol % [ S @ g
gren fég At 2, FEw o

P

@) T F=
(4) AT F

1 & & #9991 98 _a 78 &
B2l gl S0 Yo % WRAM 3fererd
WS wd & 0% .
qRaaert fas & & 7

(1) "R T R TR #1329

(2) 98 @% % 9gd IWENT & g9iar &
(3) & a1 fwior & fawr @ qafar @

(4) TE FA SEEO I A

(1) 9=ged
(3) FHITH F

Bl T AT Jo AT gaT o
(1) dfve §  (2) amftE F
(3) W I (4) FTove §
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133.

135.

A

Who among the following saints of
the Saguna school were devotees of
Krishna ? Choose the answer from
the codes given below

(1) Surdas

(1) Tulsidas

(iii) Chaitanya
(iv) Mirabai

(v) Shankaradas
Codes :

(1) i, 1, ivand v
(2) 1,11, 111 and iv

(4) 1,11, 1ii, ivand v

Hemu, the Hindu general, who led
the Afghan against the Mughals, was
the native of
(1) Panipat
(3) Kalka

(2) Rewari
(4) Ambala

ong the following is not the
o ‘accept that Mahajanpada

period was an important turning
point in the history of India in the
6th century BC ?

(1) The growth of early states and

cities

(2) It indicates growing use of iron

(3) It indicates development of
coinage _

(4) It informs about the Greek
invasions

The factory system was introduced ﬁrst at
(1) Holland (2) America
(3) France (4) England

P O



137.

138.

139.

140.

A AW AT () PIER
B. faeril g9
C. s a9
D. 8% g%
Be

(1) A-(0), B-(ii), C-(iii), D-(iv)
(@) A-(ii), B-(iii), C-(iv), D-(i)
(3) A-(iii), B-(iv), C-(i), D-(ii)
(4) A-(iv), B-(ii), C-(iii), D-(i)

eRA g ‘TanT g’ @ osm @

(1) r%d (2) orfer
(3) ama (4) H&d

Faem § oflel &l Ew MR g
ST ST 2
(1) we ks
(2) ®IE H< sl
(3) ®TE A a
(4) 3faw @i
2730 Yo § WA WHTY H GEYH o1

(1) B
(2) SEAERIIE
(3) dAfmeH
(4) SIS

g gt $o @ W@ GEIC S Al b
qHE 5, S0 @

(1) FOK B (2) {4 &}

@) gmEm (4) 9 B}
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136.

137.

138.

139.

140.

Match the following and choose the

answer from the codes given below :
A. Slave dynasty (i) Kaikubad
B. Khilji dynasty (i) Nasiruddin Khusrau
C. Tughlaq dynasty (iii) Mahmood II

D. Syed dynasty (iv) Alauddin Alamshah
Codes :

(1) A-(@1), B-(ii), C-(@iii), D-(iv)

(2) A-(i1), B-(i1), C-@(v), D-(i)

(3) A-(ui1), B-(iv), C-(1), D-(ii)

(4) A-(iv), B-(11), C-(iii), D-(1)

The language of the ‘Prayag

Prashasti’ of Harishena, is
(1) Prakrit (2) Pali
(3) Tamil (4) Sanskrit

The Fort built by English Company
at Calcutta is known as

) Fort William

t Saint George
ite Town
(4) English Fort

The Roman Empire was founded in
27 B. C. by

(1) Constantine
(2) Diocleshean
(3) Augustus
(4) Justinean

The gold coins of first century AD,
identical to Romans were issued by

(1) Kushanas
(3) Shungas

(2) Mauryas
(4) Shakas



141.

142.

143.

144.

145.

146.

I | wid gy oS awd 4

(1) =

(2) iferar

(3) S A

(4) #lave

Pty werm fhg o= g9 @
Heiferg & ?

(1) =

(2) iy

(3) TeEMrertEr

(4) =9

S &1 oAl gk O
(1) giesidr &
(2) SifaT o
(3) oTfa=rat o
(4) SFdemET o

T STESIEl I e S &

1) I @ g
(3) HIE (4) ST

T § AORAl B OTGE Fean o

(1) qHTEdt
(2) I

(3) Fw
(4) GreamE

A gl e G I g,
L

(1) 186830 H
(3) 1813%0 &

(2) 189430 ¥
(4) 1853%0 ¥
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141.

142.

143.

145.

146.

o

IS

The first English Colony founded in
America, was

(1) New Jersey
(2) Georgia

(3) James Town
(4) Merryland

The epic 'Gilgamesh' belongs to the
ancient civilization of

(1) Egypt
(2) Indus
(3) Mesopotamia
(4) China

Japan's Fukuzava Yukichi was an
(1)
(2)
(3)
(4)

Intellectual
Engineer
Inventor

Eeonomist

he Mughal emperors' court language

(2) Turkish

(3) Persian (4) Arabic

The head of the traders in the Gupta
period was called

(1) Samaharta
(2) Shresthi
(3) Kulika
(4) Sarthvaha

The Meiji Rule reestablished in
Japan, in the year

(1) 1868 AD (2) 1894 AD
(3) 1813 AD (4) 1853 AD

P.T.0.



A

147. A -1 0 A -1 T RER AT -

gar-1 g - 11
() sy -
Gi) fagmr - BEIES
(iii) 955 - T
(v) AFF - B E3|
v) fagemr - ATH
IEF d A P-4 gafea & 7 AR RA
T % q IR R
%’E’.’

(1) 1,1 diii

3) 1, mav
(4) 1i,ivdv

(30)

147. Consider List -1 & List-1I:

List -1 List - 11
(1) Sutudru -  Sutlej
(i) Vipas —  Chenab
(ii1) Parushni -  Rawi
(iv) Asikni —  Beas -
(v) Vitasta —  Jhelum

Which of the above are correctly
matched ? Choose the answer from
the codes given below

Codes :

(1)
(2)
(3)
(4)

1, 11 and 1ii
1, 111 and v

11, iv and v

148, UM SvAihEE  H 98 T, Sl 148. The place of present Uzbekistan,
SraeE A frer e where Alberuni was educated
(1) g9 (1) Samarkand
(2) EfeH (2) Khwarizm
@) fgar (3) Khiva
(4) & ( akh
149. fadm Rﬁ‘-’!’l’ﬁl’ Bl AT §'§ a dlda Second International was
founded in
(1) 178930 7 (2) 177530 ¥ . (1) 1789 AD (2) 1775 AD
(3) 188930 H (4) 180130 H (3) 1889 AD  (4) 1801 AD
150. g8 aﬁl’, Tef SEI JME F T 150. The country, where the stone
ARG I gal inscription of emperor Ashoka is found
(1) A (1) Sri Lanka
2 == (2) China
(3) FAHMITEIH (3) Afghanistan
(4) 9 (4) Japan
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10.

1.

= 1

S ¢

14,

15.
16.

17.
18.

19.
20.

dfd wrge 1 ¥ Pfaw FTen e g o P
feramar Tar &

O e O® &

M gRT far Tar SR e #Er o, afe SN arer
@M B e geR | W §

© ® © @

gfe v ¥ wUrET @l B ¥R e & df udl SR Tad

@ fort OMR SR 93 W $ad Ud g Bl & 0 @¥8
#ie / @1et 9t @ige U9 9 W | UF dR SR aifhd R
P 9% SH IS E A FHA B |

apreff gfafaa & 6 39 SR U@ @) Her 9 Wiy U9
TH W Bls o= fremm 9 el | areft sroen '
IR =P § Fuifa wme @ afaRe smas 7 e |

qﬂmgﬁﬁm/aﬂ?mﬁmwmaﬁmeﬁmﬁ
T | o o ¥ ford |

arreff @) oden g/ H waw H1E & AfoRaw fo
TER P greEErY, a1 gwfeiRad drTe B afei,
UoR, HEET B, IUEHT AT A yeR
P G B A G AT STAET DY DI START A B

uftear /fRean-fder @ € & wft Pl @
fadw eae | Al & g A B he
4 @ el vd @ STTHR B |

e WO BN W, el wer/gfd B 9§ gd S
T BE-UAES B 9avy AT < | el s A g
e gRasT B o I FEA € |

6.

10.

11.

12.

13.

16.

17.
18.

19.
20.

Answers to questions in answer sheetare to be given
by darkening complete circle using Black/Blue ball point
pen as shown below : '

O e O &

The answer will be treated wrong, if it is marked, as
given below :

o ® © &

If you fill more than one circle it will be treated as a
Wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet / Answer Sheet in the Attendance Sheet.
Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall /room.

E idate must show on demand his/her Admit
) to the Invigilator.
without special permission of the
t or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board:

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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